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2. (a) State and explain pumping lemma. Prove that the following language
L= {a": nis a perfect square} is not regular. 8

(b) Construct a finite automata equivalent to the regular expression 8

(0+1)" (00 +11) (0 + 1)°

Unit - IIT
3. (a) Convertthe grammar ;
S— AB
A Bs/hb
B SAla into  GNF 8

(b) Convert the given PDA to CFG
A=({4,,0,.}, (2.5}, {2,2},5,9,2,0)
S Ps given byl
S (qy,b,2y) = (q,,22,)
S (qp1,2y) = (q,,n)
S (q,,b,2) = (q,.22)
S (9,,2,2) = (q,,2)
S (9,,b,2) = (q,,n)

S (qpaiz()) i (qoiza) 8

3. (a) ,Whatis PDA, Explain. Construct PDA equivalent to

L= {a"™™a™/n,m > 0} 8
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